

Aufgabe 1

- a) $\begin{pmatrix} 1 \\ 2 \\ 3 \\ 4 \end{pmatrix}^2 = 1 \cdot 1 + 2 \cdot 2 + 3 \cdot 3 + 4 \cdot 4 = \underline{\underline{30}}$
- b) $\begin{pmatrix} \cos \alpha \cdot \cos \theta \\ \sin \alpha \cdot \cos \theta \\ \sin \theta \end{pmatrix}^2 = (\cos \alpha \cdot \cos \theta)^2 + (\sin \alpha \cdot \cos \theta)^2 + \sin^2 \theta$
 $= (\cos^2 \alpha + \sin^2 \alpha) \cdot \cos^2 \theta + \sin^2 \theta = \underline{\underline{1}}$
- c) $\begin{pmatrix} -\cos \alpha \\ \sin \alpha \end{pmatrix} \cdot \begin{pmatrix} \sin \alpha \\ \cos \alpha \end{pmatrix} = -\cos \alpha \cdot \sin \alpha + \sin \alpha \cdot \cos \alpha = \underline{\underline{0}}$

Aufgabe 2

- a) $A \cdot A = \begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix} \cdot \begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix} = \underline{\underline{\begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}}}$
- b) $A \cdot A \cdot A = (A \cdot A) \cdot A = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix} = \underline{\underline{\begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix}}}$
 $= A \cdot (A \cdot A) = \begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix} \cdot \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} = \underline{\underline{\begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix}}}$
- c) $A \cdot A \cdot A \cdot A = (A \cdot A \cdot A) \cdot A = \begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix} \cdot \begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix} = \underline{\underline{\begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}}}$
 $= A \cdot (A \cdot A \cdot A) = \begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix} \cdot \begin{pmatrix} 0 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 0 \end{pmatrix} = \underline{\underline{\begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}}}$
 $= (A \cdot A) \cdot (A \cdot A) = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \cdot \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} = \underline{\underline{\begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}}}$

Aufgabe 3

- a) $\begin{pmatrix} 2 & -3 & 1 \\ 1 & 5 & 4 \\ 0 & 2 & 1 \end{pmatrix} \cdot \vec{x} = \begin{pmatrix} 3 \\ -2 \\ 1 \end{pmatrix} \Rightarrow \vec{x} = \begin{pmatrix} 2 & -3 & 1 \\ 1 & 5 & 4 \\ 0 & 2 & 1 \end{pmatrix}^{-1} \cdot \begin{pmatrix} 3 \\ -2 \\ 1 \end{pmatrix} = \begin{pmatrix} 3 & -5 & 17 \\ 1 & -2 & 7 \\ -2 & 4 & -13 \end{pmatrix} \cdot \begin{pmatrix} 3 \\ -2 \\ 1 \end{pmatrix} = \begin{pmatrix} 3 \cdot 3 + (-5) \cdot (-2) + 17 \cdot 1 \\ 1 \cdot 3 + (-2) \cdot (-2) + 7 \cdot 1 \\ -2 \cdot 3 + 4 \cdot (-2) + (-13) \cdot 1 \end{pmatrix} = \underline{\underline{\begin{pmatrix} 36 \\ 14 \\ -27 \end{pmatrix}}}$
- b) $\left| \begin{pmatrix} 2 & -3 & 1 \\ 1 & 5 & 4 \\ 0 & 2 & 1 \end{pmatrix} \right| = 2 \cdot (5 \cdot 1 - 4 \cdot 2) - 1 \cdot (-3 \cdot 1 - 1 \cdot 2) + 0 = \underline{\underline{-1}}$

Aufgabe 4

- a) $\text{grad}(\exp(-a \cdot (x^2 + y^2))) = \underline{\underline{\begin{pmatrix} -2ax \cdot \exp(-a \cdot (x^2 + y^2)) \\ -2ay \cdot \exp(-a \cdot (x^2 + y^2)) \\ 0 \end{pmatrix}}}$
- b) $\text{div}(\exp(-a \cdot (x^2 + y^2))) = 2a \cdot (2ax^2 - 1) \cdot \exp(-a \cdot (x^2 + y^2)) + 2a \cdot (2ay^2 - 1) \cdot \exp(-a \cdot (x^2 + y^2))$
 $= \underline{\underline{4a \cdot (a \cdot (x^2 + y^2) - 1) \cdot \exp(-a \cdot (x^2 + y^2))}}$

